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2. a. Describe in words how you can calculate the admission price
for a group with any number of people.
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b. Write an equation relating admission price p to group size .
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c. Howis this pattern of change in prices for group admissions similar
to the pattern of change for the equations in Problem 3.2
How is it different?
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3. a. Describe how you can use the table, graph, or equation to find the
cost for 18 people.




image10.png
b. Describe how you can use the table or graph to find the number of
people in the group if the total charge is $350 or $390.
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@ Admission to Wild World includes a bonus card with 100 points that can be
spent on rides. Rides cost 6 points each.

1. Copy and complete the table below to show a customer’s bonus card
balance after various numbers of rides.

Bonus Card Balance

Number of Rides V] 1 2 3 5 ks 10 15
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2. Explain how you can calculate the number of points left after any
number of rides.
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3. Write an equation showing the relationship between points left on the
bonus card and number of rides taken.
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4. How does cost per ride appear in the equation? How does the
number of bonus points at the start appear in the equation?
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5. Sketch a graph of the relationship between points left and
number of rides for up to 20 rides. Describe the relationship
between the variables.
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C. Liz wonders whether they should rent a cart to carry
their backpacks. The equation ¢ = 20 + 5h shows the cost
i dollars c of renting a cart for h hours.

1. What information does each number and variable in the
expression 20 + 5h represent?

2. Use the equation to complete the table below showing the
cost of renting a cart for 0, 1, 2, 3,4, 5, and 6 hours.

Golf Cart Rental

Number of Hours [} i 2 3

Rental Cost

Then make a graph of the data on the coordinate grid below.

Golf Cart Rental
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3. Explain how the cost per hour shows up in the table, graph,
and equation.
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4. Explain how the 20 in the equation is represented in the table and in
the graph.
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5. Which of the following points satisfy the relationship represented by
the equation? (0, 4), (0, 20), (7, 55) Explain your reasoning.
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‘The equation p = 50 + 107 represents the relationship between the
‘Wild World admission price p in dollars and the number of people n in a
group. The right side of the equation 50 + 10 is an algebraic expression.
It represents the value of the dependent variable, p. It involves two
operations, addition and multiplication.

‘The critical question is, ‘Which operation comes first?’

‘Theo wants to find the admission price for an Ocean Bike Tours group with
17 members. He first works from left to right:

50+10X 17
=60X17
=1,020

He gets a number that seems too large.
‘Then Theo enters the same expression on his calculator and gets:

50 +10%17 = 220

Heis puzzled by the difference in results. Then Theo remembers that there
are rules for evaluating expressions.

« Which is the correct answer? Why?
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Here are the rules known as the Order of Operations:
1. Work within parentheses.
2. Write numbers written with exponents in standard form.
3. Doall multiplication and division in order from left to right.

4. Do all addition and subtraction in order from left to right.

Use the Order of Operations with 7 + (6 X 4 — 9) + 3.

7+(6X4-9)+3=7+(24-9)+3
=7+(15)+3
=7+5

=12
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Practice the Order of Operations rules on these examples.

@) The group admission price at Wild World is given by the equation
p = 50 + 10n. Find the prices for groups with 5, 11, and 23 members.
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@ The equation b= 100 — 6r gives the number of points left on a Wild World
bonus card after r rides. Find the numbers of points left after 3, 7, and
14 rides.
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@ Celia makes plans for the van ride home to Atlantic City from Williamsburg.
She plans for a 2-hour stop in Baltimore, Maryland. To predict trip time
from average driving speed s, she writes the equation

350
t=2+30

Find the predicted trip times for average driving speeds of 45, 55, and 65
‘miles per hour.
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@ Sidney writes two equations: I = 350n and E = 150n + 1000. The equations
relate income 7 and operating expenses E to number of customers.

Sidney writes the equation P = 3507 — (1501 + 1000) to show how tour
profit P depends on the number of customers . Use the rule to find profits
Pfor8, 12,20, and 30 customers.




image1.jpeg




image2.png
‘Common Core State Standards
6.EE.A.2 Write, read, and evaluate expressions in which letters stand for numbers.

6.EE.A.2¢ Evaluate expressions at specific values of their variables. Include expressions
that arise from formulas used in real-world problems. Perform arithmetic operations,
including those involving whole-number exponents, in the conventional order when there
are no parentheses to specify a particular order (Order of Operations).

6.EE.B.7 Solve real-world and mathematical problems by writing and solving equations
of the form x+p = q and px = q for cases in which p, q and x are all nonnegative
rational numbers.

6.EE.C.9 Use variables to represent two quantities in a real-world problem that change
in relationship to one another; write an equation to express one quantity, thought of as
the dependent variable, in terms of the other quantity, thought of as the independent
variable. Analyze the relationship between the dependent and independent variables
using graphs and tables, and relate these to the equation.

Also 6.RPA.2, 6.RPA.3, 6.RPA.3a, 6.RPA.3b, 6.RPA.3d, 6.EE.A.1, 6.EEA.22,
6EEA3, 6EEAL, 6EEB.S
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O study the rule.

1. a. Make a table to show the admission price for groups of size 4, 8,
12, 16, 20, 24, 28, 32, 36, and 40 people. Then sketch a graph of
the data.
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Liz and Theo want to visit Wild World with their friends. Theo checks if the park
offers special prices for groups larger than 3 people. He finds this information
on the park's Web site:

Regular Admission
$21.00 per person

Special Group Price
$50.00 plus $10.00 per group member
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b. Describe the pattern of change that shows up in the table
and graph.




